U,=V,-U’ mit U,=cosx + cosy und x=at, y=a,-t
V,-(A-cosx + B-cosy)® mit A=B
V,-A’-(cosx + cosy)®

V,-A’.(cos®x + 2-cos’X-cosy + COS’y-cosX + Cos’y + 2-COSX-C0S’y + COS”X-COSY)

Additionstheoreme: cos® x =

-(3-cosx + cos3x) coszx:%-(l + C0S2X)

N

cosx-cosy:%[cos(x—y) + cos(x+Y)]

Vv, A’ %-(3cosx+0053x) + (k+cos2x)-cosy + %-(1+0052y)-cosx + %-(3003y+cos3y) + (1+cos2y)-cosx + %-(1+0052x)-cosy}

Y.\ %cosx +Z-c053x +C0SYy +C0S2X-COSY +§-cosx +%-cosx-c032y +%cosy +%-cos3y +COSX +COSX-C0S2Yy +1-cosy +£-c052x-cosy}

Vv, A’ g-cosx +g-cosy +l-cossx +1-c053y +§-c032x-cosy +§-cosx-0032y
4 4 4 4 2 2

V3-A3|:Z-COSX + Z-cosy + %-cos3x + %-cosBy + %-cos(Zx—y) + %cos(2x+y) + %cos(x—Zy) + %cos(x+2y)}
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U, =V, -Ue? mit U, =cosx+cosy und X=w,-t , Yy=0m,-t
V,-(A-cosx + B-cosy)® mit A=B
V,-A%-(cosx + cosy)’

V, - A?[ cos® X + 2cosX-Cosy + cos’y |

Additionstheoreme: cos’ X :%-(1 + C0S2X) COSX-COS Y =%-[cos(x— y) + cos(x+Y)]

V,- A2 %-(1+c052x) + 2%~[cos(x—y) + cos(x+y)] + %~(1+c032y)}

Vv, - A? % + %-cost + cos(Xx—y) + cos(x+y) + % + %-cosZy}

V, - A? %-cost + %-cosZy + cos(x—y) + cos(x+y) + 1}

! ! ! ! !
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